Phys 101 - Sec ~ Quiz #2 (Ch. 4)
Name: Kv) ID #

1- A particle leaves the origin-with an initial velocity vo= (3 i) m/s and
constant acceleration a = (- i - 5 j) m/s’.

What is the particle’s velocity when it reaches its maximum x-
coordinate?
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2- A train moves due east at 6 m/s, along a straight level track. A boy on
the train rolls a ball along the floor with a speed of 3 m/s relative to the
train. The ball is rolled directly across the width of the train from South
to North. Find the speed of the ball relative to the ground. (Show all
steps)
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